Integer Division (A)

Find each quotient.

96+ (—12) = (—40) +~(—10) = (=55)+5= 63+9 =
(—63)+(—9) = (—8)+2= (—90) ~(—10) = 36+ (—6) =
2+12= 33211 = 49 =7 = (—100) =10 =
35+5= (—=25)+5= 48+ (—4) = 20+10=
(—24)+(—12) = (—96) 8 = 60+ (—5) = (—30)+5=
14+2= (—14)=(=7) = (—16) =2 = (—=110) =10 =
(—66)+11 = (—63)+9 = 80 (—10) = (—36)+(—12) =
18+9= 18+(—-2)= 64+ (—8) = 4+4=

648 = (—99) = (—9) = 60+ (—10) = (—=110) + (—11) =
84+12= (=25)=(=5) = (=22)+2 = (—56) + (—8) =
(—40) =+ (—5) = 1+ (—1)= 2+2= (=21)+(=3) =
(=6) = (—1)= (—24)+12= (—24) + (—4) = 33+ (=3)=
(=70)+=(=7) = 30+ (—5) = 50+10= 3+(-3) =
28+ (—7) = 66 = (—6) = (=72)=12= 15+3 =
(—48)+(—12) = (—14)+7 = 72+ (—6) = (—36)+(-3) =
(—120) =10 = 70+7 = (—56) <=8 = 12010 =
(—132)+(—12) = T+1= (—=70) +~(—10) = 20+ (-2) =
144+ (—12) = (—28) =7 = 14+7 = 30+ 6=
55+5= 21+ (-7)= (=27)+9= (—20)+(—4) =
(—45)+(-9) = 120+ (—10) = 28+ (—4)= 12+ (—1)=
8+1= 66+ (—11) = (=36) = (—9) = 2443 =
5+(-5)= (—6)+(—6) = 8=+ (—1)= 8+4=
(—15)+3= 50+5= 54+6= (—36)+6=
(—24)+4= 968 = (—12)+(—6) = 60+5 =

(=36) =3 = 244 = 284 = (—88)=11=
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Integer Division (A) Answers

Find each quotient.

7

63+-9

(=55)+5=(—11)

(—90) = (—10) =9

49 =7

4

(—40) = (~10)

(—8)

96+ (—12)

36+ (—6) = (—6)

(—100) =+ 10
20+ 10=2

(—10)

3

1

4=4=1
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~—

~—

-_— T~ T~

33+

6

7212

~—~

~

~—

~—

~—~

~—

~ ~— N Yo

(=21)+(-3)

2+-2=1

=12

12010

~ — N N~ N T

~— N N T N e

35+5=7

7

142

2
8

18=9

64 -8

7

84 +12

4

(—48) = (—12)

70+-7=10
T=1=7

(—120) +10=(—12)
(—132) = (—12)

144+ (~12)

55+5

11

5
(—20) = (—4) =5

306

14 =7

(—=28)+7=(—4)
21+ (=7)=(-3)

(~12)

(—27)+9=(-3)
28+ (—4)

11

120+ (—10) = (—12)
66+ (—11) = (—6)

(—45)+(=9) =5

8

24 =3

(~36) +(—9) =4

(—36) = 6=(—6)

605

9

546

10
12
6

505

(—15)+3=(-5)
(—24) 4= (—6)
(=36) =3 =(—12)

12

(—12)+(—6) =2

284

96 -8

(—8)

(—88) =11

7

24+ 4
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Integer Division (B)

Find each quotient.

44 + 4

(—80) + 10

7717

~10)

~—

10+

88 (—8) =

6010 =

—

T N =

33+ (—11) =

~— N Y Y T v

~— ~—

1010
66 -6

162

—~ o~ —~ o~~~

108+ (—9) =

333

44 =11

(—81)+9=

(—64) -8 =

(—4)+2=
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124

(—66) = (—6) =

72 =6

(=77)+7= (—45)+5=

(=20) =5 =

42+ (=7) =

(—80) = (—10) =

18+ (—6) =
54+9

366

637

(—132) = (—11)

90+ (—10)

155
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Integer Division (B) Answers

Find each quotient.

11

(—8) 44+ 4

(—80) =10
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60+ (—6) = (—10)
(=50) =10 = (—5)

48+8=6

90+ (—9) = (—10)

13211

—

~—

=12

7

(=35)+(=5)

12

(—108) =~ (—-9)

50+ (—10) = (—5)

(—=30)+3=(—10)

AN N e N N

~—

~~

—

~—— N

- e N N~ = N

41

(—10)

(=9)

(—120) = 12
(—45)+5

3

12+4
(=20) =5

11

(—66) +(-06)

(=77)+7=(—11)

(—4)

12
(—80) =+ (—10) =8
54+9=6

72 =6

36-6=06
8+8=1

9

637

12

(—132) = (—11)

90+ (—10) = (—9)

3
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Integer Division (C)

Find each quotient.

45+(-5) =

14+(-7)=

80+10

e N N T S N

45+ (-9) =

(—15)+5=

(—48) 6=

(—42)+-6=

(—60) =10
364

(—72) = (—6) =

40+ (—10) =

80+38

30 (—10) =

18=6

~— TN N N e e

303

(—110) =11

54+ (—6) =

—

~—

202

108+ (—12)
15+ (=3) =
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101

(-2)=
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(—20) + 10
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36+ (—9) =
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84 +17
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11+ (—11) =
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(~14) = (-2) =

9+9=

- N~

121+ (—11) =
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Integer Division (C) Answers

Find each quotient.

(—108) = (—12) =9
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18+ (—9) =
(—121) =11 =

16+ (-8) =
25+ (—5) =
(—20)=(-5) =

Integer Division (D)
Find each quotient.

32+ (—8) =
(—10)+~1=

(—16)+4 =
567

(=33) = (=11) =
(—88) =8 =

70+ (—7) =
108+ 12
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Integer Division (D) Answers

Find each quotient.

(—16) =4 = (—4)
32+ (—8) = (—4)

56 -7=8

70+ (=7) = (—10)

(=33) = (—11)

3

(=11)

(—121) =11

(=20)+ (=5) =4

108 +-12=9

(—10)=1=(—10)

(—88)=+8=(—11)
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144 +12

2
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99 -11

(=9)

(—18)+2

8

324

=10

100 =10

12+ (—6)=(-2)

(=55)+(=5)

(—11) = (=11) =1

11
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11010
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Integer Division (E)

Find each quotient.

N T T S e O T

AN e N~ TN N N N N

(—99)+9 =

(—55) = (—11)

99+ (—11)=

(~16) = (~2) =

55+11

48 - (—12) =

606

568

70+ (—10) =

24+ (-8) =

(—12) = (=2) =

888

(—33) = (=3) =

(—88) = (—8) =

(—24) = (-2) = -

(—40) =+ (—8) =

22+11

(—48)+4 =
48 -4

(—88) = (—11) =

24 =12

(—120) = (—12) =

7010

55+ (—11)=

729

(—132) = 12

24+ (—6) =

~(-3) =
—10)
=9
=2

(—24)+3=
24 -8

132+ (—11) =

N N N

(—18

20+

21 3=

(—110) = (—10)
88+ (—11)=

1111

~~

(=90

(—12

105

~~

(—30) +(-6) =

132+ (—12) =

42 -6

36+ (—3) =

35+7

182

(~30) = (~5) =

88 =11

60+ (—12) =

27+(-3) =

205

110+ (—10) =

(—66) = 6

(—=36)+4=

16+ (—4) = (—84) = 12

(—21) = (~7) =

(~18)+(~9) =

42 =17

20+ (—5) =

1+1

(—28)+(—4) =

(—44) =4 =

(—144) = (—12)

(—20) =4 =
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Integer Division (E) Answers

Find each quotient.

(=55)+(—11)=5 (=99)+9=(—11) (=5)+1=(-5) (=77)+=11=(-7)
6+ (—1)=(-06) (—16)+(-2)=8 99+ (—11)=(-9) (=2)+2=(-1)
48+ (—12) = (—4) 55+11=5 16+ (—2) = (—8) (—108) =9 =(—12)
70+ (—10) = (—7) 56+-8=7 60+6=10 (=55)+11=(-5)
(—6)+3=(-2) 24+ (—8)=(-3) (—120) = (—10)=12  (—108)=12=(-9)
(—88) + (—8) =11 (=33)+(=3) =11 (—12)=(—2)=6 (—16) +(—8) =2
(—40) = (—8) =5 (—24)=(=2)=12 88+8=11 63+ (—9) = (—7)
22+11=2 (=9)+(-3)=3 (—48)+4=(—-12) 48 +(—8) =(—6)
(—120) = (=12)=10  (—88)=(—11)=8 48 ~4=12 (—24) +(—8)=3
70+10="7 24+12=2 (=5)=(=5)=1 (—42) = (=7) =6
(—132)+12=(—11) 2=(=2)=(-1) 55+ (—11)=(-5) (—60)+(—10)=6
(—=56)+(=7)=8 6+-6=1 72+9=38 49+ (=7)=(-17)
(—18)=(=3)=6 24+ (—6) = (—4) 4+2=2 (=50) +(=5) =10
20 (—10) = (—2) 132+ (—11)=(—12)  (—24)=+3=(-8) 18+ (=3) = (—6)
(=90) +9 = (—10) (—110)=(=10)=11  24+8=3 21+3=7
(—12)+2=(-6) 88+ (—11)=(-8) (—8)+4=(-2) 10+5=2

132+ (—=12)=(—11)  11=11=1 (=30)=(—6) =5 54+ (—9)=(—6)
(—=30)+=10=(-3) (=2)+(=2)=1 9+(-9)=(—1) (—9)+3=(-3)
35+7=5 36+ (-3)=(—12) 42+-6=17 (=7)+1=(-7)
(—12)=12=(—1) 3:3=1 (=) =1=(-1) 99 +9=11

27+ (=3) = (-9) 60+ (—12) = (—5) (=30)=(=5)=6 18+2=9
20+5=4 (=36)+4=(—9) 88+ 11=8 110+ (—10) = (—11)
(=21)+(—=7)=3 16+ (—4)=(—4) (—84)+12=(-7) (—66)+-6=(—11)
(—44)+4=(—11) (—28) +(—4)=7 20+ (=5)=(—4) (—18) = (=9)=2
(—20) =4 =(—5) (—144) = (—12)=12  1+1=1 42+7=6
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Integer Division (F)

Find each quotient.

48 =12

~

(—40)+-8 =

(~60) = (=5) =

36+ (—12)

~(=7) =

~

(=35

(—12) =6 =

(—48)+8 =

(-2)=

~2)

—

—20) =
24 =

84+ (—12)

16 -8

12+ (-3) =

305

~—

110+ (—11) =
72+(-9) =

36 -9

22+ (—11) =

120 +12

+(—12)

~~

(—12

108 -9

363 =

132 +12

222 =

N /N /N /N

~— T N N N —

~— N /N N N

(—10)+5=

~— N — ~—

(~63) = (~7) =

45+9

(—18) = (—6) =

24+ 6

(—11)=1=

(—35)=5=

48 +(—6) =

45 -5

(—121) = (=11) =

40=5

(—66) = (—11) =

(=36)+(—4) =

32+ (—4) = (—32) = (—4)

20+ (—4) =

(—45) =+ (—9) =

(—=32)+4

(—16)+(-2)

~~

108+ (—1

56+ (—8)

(—24)+8 =

12+ (—12)

~— N ~— ~—

96+ (—8) =

(~54)+ (~9) =

808

(—64)+-8 =
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Integer Division (F) Answers

Find each quotient.

4
36+ (—12)

48 =12

(=3)
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2
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45+-5=9

11

(—121) = (—11)

(—12)  (=66)=(—11)=6

(—12) =1

9+1=9

8

40=5

(~36) = (—4) =

(—32) =+ (—4) =8

(=8)

(—32)+4

(=9)

108+ (—12)

56+ (—8) = (—7)

30+ (—3)=(—10)

12+ (—12)

(—24) = 8=(-3)
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Integer Division (G)

Find each quotient.

2+ (-1)= (=32)+(—4) = (=55)+(—-11)=

(—25)+5= 12+4 = 7+(=7) =
(—144)+12 = 8+8= 27+ (=3) =
(—6)+(—6) = 6+3= (—36)+4 =
63+7= (—110) =11 = (—15)+(=3)=
22+ (—11) = 40+ (—10) = (—16) =4 =
(—20)+(—10) = 27+3= (—96) +8 =
132+ (—11) = 246 = (—20) ~4 =
(—45)+5= 21+7= 35+7=

49+ (=7) = (=36) =6 = (=30) =5 =
72+ (—-8) = 16+4= (—24)+12 =
(—30)+6= 3+(—1)= 6+6=

8+ (—8) = (—4)+(=2) = 4+4=

36+3 = 16+8 = (—8)+2=
3+(-3)= 99+ (—11)= (—18)+(—9) =
(—16)+(—4) = (=72)+(-8) = 13211 =
35+ (=5) = 10812 = 63+9=
15+5= 44+11= 110+ (—10) =
(=50)+(—=5) = (—110) =+ (—11) = (—90) =10 =
48 +4 = 12+(—6) = 666 =
55+11= (=7)+~(=7) = (—27)+3=
16+ (—4) = 18+ (—6) = (=36)+(-3)=
(-)+1= 120+ 12 = (—49)+(-7) =
(—20)+(-2) = 24+-12= 16+2=
(=5)=5= (—24)+3 = (—=10)=5=
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Integer Division (G) Answers

Find each quotient.

18+3=6 2+(—-1)=(-2) (—=32)+(—4)= (=55)=(—11)=5
50+ (=5)=(—10) (=25)+5=(-5) 12+4=3 T7+(=7)=(-1)
(—63)+=(—-9)=7 (—144)=12=(—12) 8+8=1 27+(=3)=(-9)
(=77)+7=(—11) (—6)=(—6)=1 6+-3= (—=36) +4=(-9)
48 +-12=4 63+-7=9 (— 110)—11 (—10) (=15)+(=3)=5
(—144) - (—12)=12 22+ (—11)=(-2) 40+ (—10) = (—4) (—16) +4=(—4)
6+-2=3 (—=20)+=(—10)=2 27+3=9 (—96) +8=(—12)
45+5=9 132+ (—11)=(—12) 24+6=4 (—=20) +4=(—5)
60+ (—6) = (—10) ( 5)+5=(-9) 21+7=3 35+7=5
42+7=6 = (=7)=(=7) (=36) =6 =(—6) (=30) +5=(—6)
120+-10=12 = (—8)=(—9) 16+4=4 (—24)+12=(-2)
44 +4=11 ( 0)+6=(-5) 3+(—1)=(-3) 6+-6=1
(-9)+(-9)=1 8+ (~8)=(-1) (4 (=2 4d=]

108+ (—9) = (—12) 36+3=12 16+-8=2 (—8)=+2=(—4)
(—24)+4=(-6) 3+-(=3)=(-1) 99+ (—11)=(-9) (—18)+=(—9)=2
12+ (=2)=(-6) (—16)+(—4)=4 (—=72)+(—-8)=9 132+-11=12
(—=28)+(—4)=7 35+(=5)=(-7) 108+-12=9 63+-9=7

24+ (=3)=(-38) 15+5=3 44 +11=4 110+ (—=10)=(—11)
(=9)+3=(-3) (—=50)+=(-5)=10 (—110) = (—11)=10 (=90)+10=(—-9)
(—24)+6=(—4) 48 -4 =12 12+ (—6)=(-2) 66 -6=11
(—60)+-12=(-5) 55+11=5 (=7)=(=7)=1 (=27)+3=(-9)
(=6)+(-2)=3 16+ (—4)=(—4) 18+ (—6)=(-3) (=36)+=(-3)=12
(=55)+11=(-5) (=) =1=(-1) 120+-12=10 (—49)=(=7)="7
90+-9=10 (—=20)+(-2)=10 24 +12=2 16+-2=38
(=30)+(-3)=10 (=5)=+5=(-1) (—24)+3=(-8) (=10)+=5=(-2)
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Integer Division (H)

Find each quotient.
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Integer Division (H) Answers
Find each quotient.

e\ —~ —~ —~ —~ —~
— —~ =~ o — -~ o — o — S ~ o —~
! R ] A N o I N e T P
N — v o~ ~ I I ~— I ~— N
_ - 1] 1 1 1] —_ 1 _ I~ I o 1 1 _ Il 1
Jo o o A_u do e e I 0_/ Jooon A__. T o T 7_~ Joo o_o | A__. ?_~
—~
—~ O nm - —~ —~ — | = —_ — \O - —_ — — 4B _ 1~ —_ N — —
S EYrdF RIS 8w Y 2 B
I < o | _ _ _ | .o | oo | < o | I _ I © | o o
~ 0 — \74 )
p—
I ~N T = o I ~— T o = — — K I H —
o I T Yo -~ oy s o [T S I
O — ~_ N ~— — — (@) ~— = —_ o ~ <t [V [o%0] (@\] ~— _ o0
—~ —~
L L K o | L L | L L [ | ] e ] S CR (_\ I A_ﬂ
~—~ o~ —~ —~ —~ —~ ~ o~~~
o og locaxslaea T o T e ko~ D 4
T = a L ® I S - T T = e o = =2 A & 4 o b n
o | _ _ _ [ oo | I <o | _ | 0o © | _ _ | o | <
—~
e\ —
~—~ ~~ — v A\mm ~—~ (@)
] v ~—~ ~—~ 00 @) on —~ — —~ | —~~ (@)
R e IR 2 BN | L T
~— ~— ~—
Il 1l 1l 1] | — _ [ 1 M | N " | — 1 1] 0 o0 " I < _
—~ ~~ I~ 0 — = — = <t -~ N ~~ —~ | N
o0 \O o0 <t — v ._. —~ ._. (@) on 1 1 —~ O
L L A L N = R S =S N B
CTresgFe®*rorvEslgsry Tl
_ ._. < < v ._. W — ._. ._. < ._. ._. —_ ._. et — ._. ._. ._. ._. ._. ._. < oy
o v | _ - I o Q | = o | _ | ™~ oo v O = _
o0 O ~—_— ~— ~— O\ ~—_ — on on ~— (@) ~— O\ ~—_ ~— O — (@)} o0 <t (@) ~— ~—
—~
)
— () —~~ ()
—~ —~~ —~ —~ | — Ne} (@\ (e} fo%e) S\ T~ =
i N N ) I T T YT
l Il Il
1 (<a) . 1 I — " = " r _ ~ _ 1 1l _ _ 1] Il _
._. I ._. ._. 1 _ ._. ._. ._. _ \O) ._. & ._. 1] ._. _ ._. ._. 1 $ ._. | _ ._.
o o ¥ by ey = oy &y = F e ®
I < | o o | _ _ _ _ [ n | o | o | N | wvn oo |
—_ O ~— ~— OO <t ~— — ' ' — — ~— v ~— O ~—_— ~— I~ (@) ~— v (@\| ~—

Math-Drills.com




Integer Division (I)
Find each quotient.
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36+ (-9)

182 =



Integer Division (I) Answers

Find each quotient.
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Integer Division (J)

Find each quotient.
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Integer Division (J) Answers

Find each quotient.
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